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28 olg2el 600,933 620,423 A 19,490
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—F5+g 41,6803 «1& 45 1,876
— =g 41,680 x1F «12 501
—4UHEEE 10,713,000 *14% 1,500

201 L Et2 | 23,000 23,000 0
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OXMBIERELEIRE =€ 70,0003 2% %403 5,600

02 3329l 1,600 1,600 0
OJIEYHYR SN doiE2E= 200,000 84X 1,600

202 044l 5,520 5,520 0

01 S LM HI 5,520 5,520 0
OS8L A=A 0tl 1,920
— 22 ¢l 60,0003 »1& 123 720
— 2ol 100,000 »1Z 123 1,200




fA:

Ao

E=ganl
B SANSIASEH(SEHYSM/5Y - 5&
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OnsdgY 30,0003 1 1203 3,600
206 M = bl 370,000 390,000 20,000
01 M= 4l 370,000 390,000 A20,000
OJ=sdazEd 25,0003 x10,000kg 250,000
Ot =2 35,000
— 2 OFJ8tul 3,000& +5,0005 15,000
— SO0HXI Z At 4,000& *5,0005 20,000
OEEYLIEARE 100,000 » 1004 10,000
OIEHEYE L 15,000 »2,000M E 30,000
OXels 280 5,000& *2,0004 10,000
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301 LEBAZ 176,700 176,700 0
MIIEBE 4= 176,700 176,700 0
OaB=24etY MHESY 3,000& x7,0005% 21,000
OFHE HYESA=HI(Z 5,000& *24,0005 120,000
OIIEHEE LS A=l 3,000& *5,0005 15,000
OZHMHEIt=SHelH X& 150, 000& 502! 7,500
O3=+9 1,100,000 x1H x12& 13,200
307 glz2tol & 6,000 6,000 0
01z =Hl 6,000 6,000 0
ORJIIsEXE 150,000& 405 6,000
402 QIZ2tR20l A 7,500 7,500 0
01 QIEXtE2 8 £ 7,500 7,500 0
OFAL Y 12,500& *1,200kg*50% 7,500
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—SEANE 500,000& *2CH 1,000
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—A"3E 41,000 =2CH 82
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01 = i HI 37,230 37,230
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